37  Mechanical diaphragm pump& plunger pump

Kosmo Series
MM2

Mechanical-return Diaphragm Metering Pump

MM2 pumps are electric motor-driven pumps with mechanical diaphragm liquid
ends and mechanical return.

FEATURES
M Flow rate 80 - 2,300 L/H
MW Max pressure 10 BAR
M Stroke rate 43/86/131/175 Stroke/minute
M Stroke length 7/8/9/15 mm
M Diaphragm diameter 124/140/157/179 mm
W Motor 0.55/0.75/1.1KW
M Material of pump head SS 316L, PVC, PVDF
B Max temperature 40°c
SPECIFICATIONS

Connections
Stroke Max

Diameter Flow rate

rate pressure
[mm] [stroke/min] [EiH] [bar] 553161
SS316L | PVC PVDF PVC
PVDF
MM2F124D*C40600 ‘ 03 ‘ ‘ 80 ‘
ERES
7
124 ‘ 131 ‘ ‘ 250 ‘ 10 G3/4 56
§ MM2G124G**C40600 8 450 0.55/4
o 175
g MM2F140G**C40600 7 500
= 140 7 700x500x750
L MM2G140G**C40600 8 600
o G1 60
Sl | MM2H157F+C40600 ‘ 131 ‘ ‘ 720 ‘
°
= 157
o MM2H157G**C40600 9 1,000
E 175
s MM2H179G**D40600 1,200 4
c 0.75/4
E 179 ‘ 131 ‘ ‘ 1,600 ‘ G11/2 68
(7} 15
Sl | MIM2I179G*E40600 5| 2300 1.1/4
c
@ 1.%* refers to option of pump head material : SS316L(21/24);,PVC(31/34);PVDF(41/44)
2 2. With exception to standard motor, it is also can be equipped with frequency-conversion motor or explosive-proof motor.
-§ 3. Test with water @ 20°C @ 50 Hz;Flow rate values with motor at 50Hz. Multiply by 1.2 for 60 Hz
©
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INSTALLATION DRAWING

J50MAX
207 MAX

263

%uméa Diameter=124 Diameter=140 Diameter=157 Diameter=179
ea
Material Connectlon‘ LB Connection LA ‘ ‘ @ecﬂonH ‘ ‘LC ‘ConnectlonH

| PvC | [DN20| 293 | 123 | 372 | [DN25| 316 | 129 | 377 | [DN25| 334 | 130 | 379 | DN40| 424 | 148 | 395
| PVDF | [G3/4°F[ 293 | 123 | 372 |[G1"F| 316 | 129 | 377 | [G1"F| 334 | 130 | 379 | [G11/2'F 424 | 148 | 395 |
| $S316L | (G3/4°F| 216 | 108 | 357 |[G1"F| 251 | 130 | 378 | [G1"F| 295 | 132 | 381 | [611/2'F| 382 | 160 | 407 |

LIQUID END MATERIALS

:
Material R
2124 | 3134 | auaa

| Pump head | ss3tel | pvC | PVWDF |

' Diaphragm || PTFE \

 Seal || FPM/EPDM \

| Ball \ [ Ceramic \
SS316L

| Ball Seat \ \ PTFE \
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